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Cuendléd LweTL RS LD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

U@&S - 1/PART - 1
GOILY : () SAmenggl. clamssEnéEn e wallssaib. ‘ 20x1=20
i) Qar@sslulBerer BremE wLTH aflevLsafled seyd ermijenLw
aeoLeows Czib0s®&s & GOUL L elenulenaruyib Cargg)
ET(LPFLD. -

Note : (i)  All questions are compulsory.

(if) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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1. Y =4y aan uraieanugb @ «oighe Quaraimapdn@n @en -G Lriurearg) :
4
8 2 5 e 2
(“m{) ) (‘:o-?{)) q' ((@) 7 ( ) 3

2 : 3 v .
The area between y<=4x and its latus rectum 1s

5 4
@ 3 ©» 3 © 3 @ 3
3
2 j:( a2 —x2) -@ 6T &L :

3'7a2 -rra3 ! 31Tél4 ( ﬂ') 3ra’
(@) —— (=) ¢ (&) —3 16
The value of E(\/az — x2 )3 dx is:

3mra’ mra® | 31Ta4 d) 3mat
(a) 3 (b) 16 () 5 16

3. P(x, y) erep Laraf Gellwrusger Fy(3, 0) wHmD Fy(—3, 0) QETarL dalbL| euemaTey
1632+ 2542 =400 - Bgieer el ereufléd PFy+PF, -e LoSluLy :

(1) 10 (<)8 (@) 12 - (m) 6

If P(x, y) be any point on 1f‘>;cz+25y2=400 with foci F;(3, 0) and F5(—3, 0), then PF, +PF,
is:

(a) 10 (b) 8 (c) 12 . (d) 6

4. |zg|=1, |2 =2, |z5| =3, LDHMILD |9zlzz+4z1g3+zzz3l=12 ereflev, |%.1+22+ z,) -em WL
(o) 3 (@)1 (@) ¢ (w) 2
If |z,|=1, |z, =2, |23|=3 and |9zlz2,v§|-4zlz3+z2z3|=12 then the value of |z, +2z,+2j| is :

(@ 3 (b) 1 (c) 4 (@ 2
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(Pvq) A (pvr) erenm GIouT (L. aIenesuNey o_efrern Hlengaaflen eremrenilmens, :

(<21) 6 (e2) 9 (@) 3 (/r) 8

The number of rows in the truth table of (pvq) A (pvr) is :

(@) 6 ) 9 (© 3 ) 8

E LD[_E)QJL‘D;) <Al DDEHGD SeTdHle P DINDhFIeTend;) eredflea,

(@ (23, 7] = () [, B, 7] =1
@ (2,5 37] =2 (™ a8 3] ==1
If a vector o lics in the plane of B and 7y , then :

@ %3]0 - ® [5F3]-1
@ [4.83]-2 @ (3.8 7]=-1

y=Ae"+Be™¥ Qhi A, B araruer gCaayd @ wrhlelsadr, TEUD uUETEUM TS
Asreduier cumas&Qsps swemn() :

dy d%y d 2
(=) 2+ (@) Gz +v=0 (@ F-v=0 (m F-y-o
The differential equation of the family of curves y=Ae*+Be

~X, where A and B i
constants is : are arbitrary

dy d? d 2
@ 1Y (b) FYmO L () 2y =0 7 (g) a;g_ ~y=0

<<
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f(x) = »1_» ~ait Aol g Qgrenad CprHGsHT@H :
(1) x=c (<) y=0 (@) y=c U Bhaa

1.
The horizontal asymptote of f(x) = =i !

@) w=c (L) y=0 © y=c (d x=0

f(x) = —~L— crafléy, Bigen euamasi® :

x+1
(1) x+1dx (=) (x +1)? (@) x+1 (1 (x + 1)?
If f(x)= }—iT' then its differential is given by :

L dx et dx ) -1 dx (d) ——l 5 dx
(@) x+1 (®) (x +1)? (c x+1 (x+1)

(i) (1+2i) (1+30)... (1 +ni) =x +iy erefled, 2:5:10...(1+1?) -1 Ay :
(o) 2432 ()1 (@) 1402 () i
If (1+i) (1+2i) (1+30)...(L+ni)=x+iy then 255:10...(1+n2) is :

(@) 22y RN 9 14n2 @ i

=332, xe[0, 3] erenp #rn9HE Crreden Copmbens Hlerpey CEwybd ereir :

() 5 (@)1 (@) 2 (™) 3

The number given by the Rolle’s theorem for the function x3—3x2, xe [0, 3] is 3

@ 3 ® 1 @ 2 @ vz

kindly send me your key Answers to our email id - padasalai.net@gmail.com


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

13.

14.

www.Padasalai.Net www.Trb Tnpsc.com

9 3

7412

17 = 3= 53 4 3y gremm Snibl] @ievenallen auens

(«®0) cenflLigauenenind («o) Heran i in
(@) auiib (re)  wreenerI

The type of conic section for x2—3=5x+4 Jy is :
(a) hyperbola (b) ellipse

() circle (d) parabola

A eranug YEAwwpps Careneu el wpmid A™! = [ > P } eraflen, (AT~ 1=

73] @[Ty elRZ @[]

! 5
If A is a non-singular matrix such that A™! = [

3
; -1
_9 _J,then(A)

-1 -3 — -
R I o R e I Y

7=(7 427 - 2%) weleT e T -27)

- (-—)
sTSAHED @l il L Caramd

- ‘- - - __)
ereoim Gamligm@w r-\i + j)+4=0 eTesIm

(1) 45° (<) 0° (&) 90° (FF) 30°

- (= - -
The angle between the line r =(i =2 —Sk') + t(27 + 7 -2_1?) and the plane

(7 +7) +a=0is:
() 45° (b) 0° () 90° (d)  30°
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sin 'x + cot‘l(%) = g eraflev x -er WSl :

P 3 44
(=) 75 (=) 5 @ 2 (™) 75
If sin"!x + cot™! (%) = g, then x is equal to :

2 1
@ = ® 3 @ 2 @ 75

B+p2+qr+1 -6@ o, B LOPMID v ereieney LFAworsdser ereafle, Z% - iy :

b, q _ PN SR
(=1) » (=) =7 : @) 7 (™) —%
If o, B and vy are zeros of x>+ px2+qx +r then Zl is :

a .
| PR | /_4 @ —P
@ (b) = (©) P (d) =

Var(3) -eor ‘LDQL'JL{ .

(1) 0 (<) 3 ‘ (&) Var(3) (rF) 9
The value of Var(3) is : : ,
(@ o0 o G RY (© Var@d) @ 9

n=25 wHmib p=0.8 eTeim 2 &TeT MHOILIL] UFeued Csrar weumiliL] wrml X erafl,
X -e1 AL elvssgSlen Sl :

(=1) 3 (=)6 @ 2 (rF) 4

A The random variable X has binomial distribution with n=25 and p=0.8 then standard

deviation of X is :

(@) 3 b) 6 © 2 @ 4
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19. A Buopmid Cerenuen Gpinmm sranrbnsssanrm o GaeaGona auflensufla G)aminllen

dlenaumeuanainmdled 618 o areninica ?
fet A= (det A) !
(e2) dc (det A)

(@) (ABC) " '=C B 1A

(<2p) adj A=]|A]A ]

() adj (AB) = (adj A) (adj B)

If A, B and C are invertible matrices of some order, then which one of the following is not

true ?
(@) det A~1=(det A)~1 (b) adj A=|A|A-!
(© (ABQ)~1=C~1B~1A™! (d) adj (AB)=(adj A) (adj B)

20. x+64 -an @ 5é;élu.1mrré;eﬂ :

(=) 4 (=)0 (&) -4 (FF) 4
Azeroo’fx3+64is:‘ ,
(@) 4i b)) O () -4 (d) 4

u@S - 11/ PART -'1I

GOy : eTemauCuenib g elamss@rsE ol welssab. elearm eream 30 -5

sL_L_muwns e well&sa|b. 7x2=14

Note : ‘Answer any seven questions. Question No. 30 is compulsory.

i 12
21. &HSGS : Z i

n=1

12
Simplify : Z i

n=1

22. 22-7x+13=0 er@itb QHUIGF FOSTUT GG PRISET o DI B erafled o2 LOHMILD
B’ Stfweuheny pposaTTEs CETE@TL @ B)HLIgs ST L 2 (HAUT&&EHELD.
If a and B are the roots of the quadratic equation 2x2—7x +13 =0, construct a quadratic
equation whose roots are o? and B2
A
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24.

25.

26.

f()=2243x erenip s AH@ df sneans. wHOID ¥ =3 wpmio dx=0.0
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8
2 ergmip GUTE)
df -3 wHhn9®s.

Find df for f(x) =22+ 3x and evalualte it for x=3 and dx=0.02.

< auPlwinss Qaogd CrisGsampHsarfler Qsm@Sudlen auEEQs (& FETUTL L&
STETS.

Find the differential equation for the family of all straight lines passing through the origin.

_ . ' . B _ 2(x—1) 1< x<2
sweumiiliy wml X -6 Hlapgsse] DLTEH iy f(x) g { 0 9 HUL &SEHEE

srrafl &rers.

For the random variable X with the given probability mass function.

- J2(x=1) 1<x<2
fx) = 0 otherwise

Find the Mean.

ewwid (—3, —4) WHPID HYTD 3 JVGsSE QaTaTL el LgHear QuTgalgeus
FeUm(h STaTs.

Find the general equation of a circle with centre (=3, —4) and radius 3 units.
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-1 3
27. | 4 =7 crenp efluflen enflidsrio srers.
3 -4
-1 3
Find the rank of the matrix | 4 -7|.
3 -4
28. wHLAES : Ismlox dx
0
2
Evaluate : Jsinlo x dx
0
x2 —3x +2

29. saw&dlpHs : lim —
x—=1 x° —4x +3

,
] x“=3x+2
Evaluate : lim S5 -
-1 x° —4x + 3

i - I S S SEle S
30. 2i - j 43k, i - j,3i - j+6k dwu CausLiadr @@ ser QeusL isarmeLb
eren HlemLil&sab.

ad b d

- - -
Show that the vectors 2i — j +3k, i — j and 3_1') = 7 + 67: are coplanar.
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L@$ - 11/ PART - 111

GSPLY : eemeuGuiggid erp e & (@hH G eflen_waflsaad. aflenm ecremm 40 '&? A
SLmuwns efenwafdsHe b, T

Note : Answer any seven questions. Question No. 40 is compulsory.

. 1 = . :
31. cot 1 (7——2——) = se¢c i X, le > 1 erenis HSITI_(D&?.
xT—1

Show that cot™} [;—

J=sec_1 x, x| >1.
2 -1

32. x2+6x+4y+5=0 erem LFeueTWSHDE (1, —3) erenp LiaTafluiicd QAsTHGET(H WwHmID
QesrGasm’_ (W& FWaUTHEHETS &TEwTsH.

Find the equation of tangent.and normal to the parabola x2+6x+4y+5=0at (1, —3).

lt-—) e

a—b,b—c, c—a]-—-OGrmﬁgnmeﬁ.

33.
e O —';] '
Prove that [a -b,b—c, c—a]=0.
2 2
~ XY qafld +y3 = 3y arem &
34. u(x,y)—J;-_—yﬂ &, x= yay > Himie
y) 2
If ux,y)= —ﬁ’ prove that xax +yay 2u

35. @ran® Was aansaia &mLOS QsTens 12, Co@ib igen QUMmESGS CsTes
QB eTafle), BB CTENEEETE HTEHTS.

Find two positive numbers whose sum is 12 and their product is maximum.
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39.

40.
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3y
lDTé)]l'_lLl k'])”(‘\ﬁm\',\ . J. 8 I Iy
T 1+ Jlanx .
8 e
3
Evaluate : jﬂs —‘_J,_j_k dx
3 1+ Jtany
<

.o dr
Siss: 1+x2)Y _ 1,2
dx y

di
Solve : (1 + x2)<Y _ 2
( ) 1+y

@P‘?@J g.U'WGUT:IDITGGOTU_IrEJHSGiT @Cr Crrgde a;as'nﬂ_uu@éleirrgpml S &@GD sevesafler
crameRilGamssstar Hepssay Blenm srilenensd srams.

Three fair coins are tossed simultaneously. Find the probability mass function for nhmber of

heads occurred.

2" =1. 3

A=1-5 3 1| erafle [adj (adj A)| -eweu Srems. |
=312 3
2 -1 3
If A=|—5 3 1/, then find |adj (adj A)|.
-3 2 3
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L@& - IV /PART - IV
SMIay : SHEOETTHG] 65 Go1IT 85 (615 (31D oNenL_waflEsab.

Note : Answer all the questions.

7X5:35

h ol . st L GCETERTID STawTs.
41. (@l) Y=~ Lopmio y:(x_g)z %eﬂm G)JGU)GWG)JGU)IIBS@EJ@ @Qf)l__l_lul_-l——

V0
TS -1(x -1 1(x+1 ey
T&& : ta 1(l )+t 1(_)=_
()8 ! x—=2 M o\r+2 4
(@) Find the angle between the curves y=x2 and y=‘(x—3)2-
OR
(b) Solve: tan_l(x — 1) + tan_l(x s 1) s
x—2 x+2 4

42. (=) @ SpILEs useLulen @ LSESESHO® ‘1 eTareybd, S)(H Lisiigaied ‘3’ eramaLb
LHHID gemany apan Ussksald ‘5 aaab @GHssuul(Berarg. UsamL
A weop efstiL@HDg. Q@ wen eSFiul L ar Qwrss eramamismaen
X @M&dlpg ererie,
@) Dspssey Hlen smiy
(i) @elley uyeue FmiL -
(i) P4 =< X<10) -eowl Srens.
TNV |
i . . . g | 2z+1
(=) z=x+iy eTeniD FEHEUD G HwLIGLIeRT Im(,

iz+1

) =0eraIrm enobHgreD
z -a1 Hlwnliureng 2x242y? +x—2y=0 erend sr_(Hs.

(a) A six sided die is ma.rked ‘1 on one face, ‘3" on two of its faces, and ‘5’ on remaining
three faces. The die is thrown twice. If X denotes the total score in two throws, find :
(i) the probability mass function
(i) the cumulative distribution function
(i) P@4 <=X<10)

OR

2z+1

(b) Ifz=x+iyisa complex number such mat Im(iz 3 1) =0, show that the locus of z is

2x2+2y?+x—2y=0.
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&EN 60 drt Gt Wl e ' 2 ; .
(<) BnOEWPTS ereuda i | e GpiaI 18 satdiGenr auiqelldy o erer gpcm Birflenas

ggguf‘ WSlet coppth 12 1801 wpmitd Gogyierer et glen b 5 BT aréms.
L ‘jr{”Qm@ﬁ 10 sanfi_ i GausghHer Hir umidsiiu®Apg erafld, 8 B
<2iosdled Bii Q& @ GLrg pien opipd ofHafla@d aign ererar ?

S|V G|

Q - . . .
() Qoudii WPepuliey sin(a— B) =sina cosP —cosa sinf erer 1_9@]614(%.

(@)

(b)

A ic 4 Ny s ‘. .

s S(‘:mml water tank with vertex down of 12 meters height has a radius of 5 meters at

thi °p- If water flows into the tank at a rate 10 cubic m/min, how fast is the depth of
¢ water increases when the water is 8 metres deep ?

OR

Prove by vector method that sin(a— B) =sina cosP — cosa sinp.

(<=1) S®TLLL SH S (mHg 7.5 1S 2 WrsHed srsHE@G Qemarursls QuUITBSSLILL L

PG ST (BHs CeuafiCumib Fir gevgerws QsrHL LTS R
UTeuemeTwSens TOUBSSHg. C@ib @b LiFeueeTwil LTengulder (penest
Gemien eumlles wimdpg). @M Wi LsHba 2.5 15 &G Bler Lmileurens
Gyrier wear aufurss Qsogib oo G556 Cariune 3 8 sirssd
2 ereng) erafled, G516 Camyembs ereucuaey SMEHNEG LILTD Brreans
seoyuile edl(pd ereTLIMSS Hrains. '

D{EV6V G

(%) Wemeumd Crflwed euamss@aps swaum yer Sieay sramns

(b)

+ = sinx.

&l&
R I

Assume that water issuing from the end of horizontal pipe, 7.5 m above the ground,
describes a parabolic path. The vertex of the parabolic path is at the end of the pipe.
At a position 2.5 m below the line of the pipe, the flow of water has curved outward
3 m beyond the vertical line through the end of the pipe. How far beyond this vertical

line will the water strike the ground ?

OR
) . . .dy |y ‘
Solve the Linear differential equation i + £ =sinx.
%

7412
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(1) miaremiuiasaien OLmosgHH @, Liméstef i erfl eor mdamﬂ&mm@m CumEs
eiploneng oiHd  srawiuiin urdle fwirdsefle orasremilEenduil e GEJW,&J‘LDW{L
o arangl. QUAuUmEsssTa Lrdeflwmreien craanileans 5 u')mfﬂ .C’!WQ@@)
powLmstdng crafle, 10 wanil Gy (1plg.6ile Linée Anéseflen eramentléaens,
CTEIETEUNS @)\(H&HED ?

SI6VEVG)

x—2 y—2 z—1 . . . : .o.oox+1 y—1_2+1

= = w LD —y——

(<) — 3 5 e Gamlen o _eTeTL &G 8 > T

erarp GariyhE @marurergorear serdder @eudLir LHDID s Slwer
FLORTUTHESEDETE &TETS. '

(@) The rate of increase in the number of bacteria in a certain bacteria culture is proportional
to the number present. Given that the number triples in 5 hours, find how many
bacteria-will be present after 10 hours ? '

OR

(b) Find the vector and Cartesian equations of the plane containing S =

x+1_y—-1_z+1

and parallel to the line : .

2 2
(<=4) x—2 + z—z =1 eremp Betaul L SHammed e LD SThsSSlet LFlienLs SreTs.
z :
S|V G

(=p) y2—4y—8x+12=0 eramm LFeueeTwGSlen (penar, Gaeilwilb, ‘@més@memyufﬂéﬂ
FLOGTUT(H &TETS.

(a) Find the area of the region bounded by the ellipse

x2 2

“ +
2

<

l

o
(M)

OR

(b)  Find the vertex, focus and equation of the directrix of the parabola y?—4y —8x+12=0.
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47.

(<24) p & q = ((~p)vq) A (~Q)vp) erems s @Hs.

(<) @

(@)

®)

www.Padasalai.Net

ATV
3 4 2
x y z 170
1 2 1
-+ 2 4
%t it = =2
2 5 4
=-=-241=
X Yy 4 0
Show that

P < q=((~p)vg) A ((~q)vp)

OR

15

www.Trb Tnpsc.com

e Gpiflwig swaiur@aaier Qmretionls &yl eflflliLg £rés.

Solve the system of linear equations by Cramer’s Rule.

—————— 1=0,
X y Z_

I A
X y Z

2

x Yy oz
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